MEd Degree Fee Information

- There is a minimum charge for each degree-referred to as the Degree Fee.
- If, at the end of your program, the total amount of *academic fees* you paid is less than the minimum Degree Fee, you will be required to pay the outstanding balance.
- Academic Fee is also called Tuition Fee and is also called Program Fee or Course Fee

Below is the minimum Degree Fee which you are required to pay by the end of your MEd degree program, based on the year you began. Note that there is no maximum degree fee. International student fees differ. Please contact your Registration Specialist in the ORSS for information about international Degree Fees.

If you began your M.Ed. degree in:	MEd Program	minimum Degree Fee is:	calculation: program length times one year academic fee
2017-18	For most MEd Programs:	TBA	1.5 times \$TBA
2017 10	the exception -MEd in Counselling Psychology:	\$TBA	2.0 times \$TBA
2016-17	For most MEd Programs:	\$15,525.00	1.5 times \$10,350.00
2010 17	the exception -MEd in Counselling Psychology:	\$20,700.00	2.0 times \$10,350.00
001516	For most MEd Programs:	\$14,940.00	1.5 times \$9,960.00
2015-16	the exception -MEd in Counselling Psychology:	\$19,920.00	2.0 times \$9,960.00
2014-15	For most MEd Programs:	\$14,370.00	1.5 times \$9,580.00
	the exception -MEd in Counselling Psychology:	\$19,160.00	2.0 times \$9,580.00
2013-14	All MEds	\$13,825.50	1.5 times \$9,217.00
2012-13	All MEds	\$13,294.50	1.5 times \$8,863.00
2011-12	All MEds	\$12,784.50	1.5 times \$8,523.00
2010-11	All MEds	\$12,292.50	1.5 times \$8,195.00
2009-10	All MEds	\$11,820.00	1.5 times \$7,880.00

Minimum Degree Fees

*Exception: Note the following change as of 2014-15 for the MEd Counselling Program: New Program Length = 2 years

The minimum fee for MEd students beginning the Counselling Psychology Program in 2014-15 will be calculated at 2 times the Fall/Winter, full-time academic fee for the academic year in which they begin.

The minimum fee for MEd students who began the Counselling Psychology Program prior to 2014-15 (and for all other MEd programs) remains 1.5 years.

MEd Fee Schedules

Below are recent MEd Fee Schedules for your convenience in calculating the payments which you have made towards your Degree Fee. International student fees differ. Please contact your registration specialist for International degree fees.

NB: Incidental and Ancillary Fees are in addition to the academic fees and are not included in the calculation of the Degree Fee.

2016-2017 Fee Schedule

2017 Summer Session Fees	Academic Fee	(Incidental &Ancillary Fees)
Full-time registration	\$ 1,614.00	(\$ 478.21)
Part-time registration	\$ 1,614.00	(\$ 184.07)
2016-2017 Fall/Winter Fees TBA		
Full-time registration in Fall/Winter Sessions	\$	(\$)
Full-time registration in one Session only (Fall or Winter)	\$	(\$)
Part-time registration in Fall/Winter Sessions	\$	(\$)
	\$	(\$`)

2016-2017 Fee Schedule

2016 Summer Session Fees	Academic Fee	(Incidental &Ancillary Fees)
Full-time registration	\$ 1,552.50	(\$ 466.17)
Part-time registration	\$ 1,552.50	(\$ 177.52)
2016-2017 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 10,350.00	(\$ 1,310.96)
Full-time registration in one Session only (Fall	\$ 5,175.00	(\$ 680.48)
or Winter)		
Part-time registration in Fall/Winter Sessions	\$ 3,105.00	(\$ 747.80)
	\$ 1,552.50	(\$ 398.90)

2015-2016 Fee Schedule

	Academic Fee	(Incidental & Ancillary Fees)
2015 Summer Session Fees		
Full-time registration	\$ 1,494.00	(\$ 450.18)
Part-time registration	\$ 1,494.00	(\$ 173.54)
2015-2016 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 9,960.00	(\$ 1,388.08)
Full-time registration in one Session only	\$ 4,980.00	(\$ 719.04)
Part-time registration in Fall/Winter Sessions	\$ 2,988.00	(\$ 447.86)
Part-time registration in one Session only	\$ 1,494.00	(\$ 248.93)

2014-2015 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2014 Summer Session Fees		
Full-time registration	\$ 1,437.00	(\$ 429.80)
Part-time registration	\$ 1,437.00	(\$ 169.39)
2014-2015 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 9,580.00	(\$ 1,310.96)
Full-time registration in one Session only	\$ 4,790.00	(\$ 680.48)
Part-time registration in Fall/Winter Sessions	\$ 2,874.00	(\$ 414.98)
Part-time registration in one Session only	\$ 1,437.00	(\$ 232.49)

2013-2014 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2013 Summer Session Fees		
Full-time registration	\$ 1,382.55	(\$ 443.36)
Part-time registration	\$ 1,382.55	(\$ 172.00)
2013-2014 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 9,217.00	(\$ 1,300.28)
Full-time registration in one Session only	\$ 4,608.50	(\$ 675.14)
Part-time registration in Fall/Winter Sessions	\$ 2,765.10	(\$ 413.98)
Part-time registration in one Session only	\$ 1,382.55	(\$ 231.99)

2012-2013 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2012 Summer Session Fees		
Full-time registration	\$ 1,329.45	(\$ 424.76)
Part-time registration	\$ 1,329.45	(\$ 163.45)
2012-2013 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 8,863.00	(\$ 1,241.52)
Full-time registration in one Session only	\$ 4,431.50	(\$ 643.26)
Part-time registration in Fall/Winter Sessions	\$ 2,658.90	(\$ 391.08)
Part-time registration in one Session only	\$ 1,329.45	(\$ 218.04)

2011-2012 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2011 Summer Session Fees		
Full-time registration	\$ 1,278.45	(\$ 379.39)
Part-time registration	\$ 1,278.45	(\$ 153.72)
2011-2012 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 8,523.00	(\$1,156.36)
Full-time registration in one Session only	\$ 4,261.50	(\$ 600.68)
Part-time registration in Fall/Winter Sessions	\$ 2,556.90	(\$ 368.16)
Part-time registration in one Session only	\$ 1,278.45	(\$ 206.58)

2010-2011 Fee Schedule

	Academic Fee	(Incidental &Ancillary Fees)
2010 Summer Session Fees Full-time registration Part-time registration	\$ 1,229.25 \$ 1,229.25	(\$ 367.37) (\$ 150.68)
2010-2011 Fall/Winter Fees Full-time registration in Fall/Winter Sessions Full-time registration in one Session only	\$ 8,195.00 \$ 4,097.50	(\$1,117.18) (\$ 581.09)
Part-time registration in Fall/Winter Sessions Part-time registration in one Session only	\$ 2,458.50 \$ 1,229.25	(\$ 349.14) (\$ 197.07)

2009-2010 Fee Schedule

	Academic Fee	(Incidental & Ancillary Fees)
2009 Summer Session Fees		
Full-time registration	\$ 1,182.00	(\$ 345.99)
Part-time registration	\$ 1,182.00	(\$ 138.22)
2009-2010 Fall/Winter Fees		
Full-time registration in Fall/Winter Sessions	\$ 7,880.00	(\$1,073.04)
Full-time registration in one Session only	\$ 3,940.00	(\$ 554.02)
Part-time registration in Fall/Winter Sessions	\$ 2,364.00	(\$ 320.92)
Part-time registration in one Session only	\$ 1,182.00	(\$ 177.96)